

$$2s = \dot{\omega} \rightarrow -\frac{b}{r^3} = -\frac{1}{r^3} \rightarrow \dot{\omega} = 1$$

$$-\frac{1}{2} \ln 2 + \frac{1}{2} \ln 2 = 0$$

$$y = \frac{1}{2} \sqrt{1 - x^2} \quad \text{and} \quad y = \frac{1}{2} \sqrt{1 + x^2}$$

$\gamma_0 - 2m^2 > 0$ $\Delta > 0 \rightarrow$ «بى جاىزىقى»
 $\textcircled{1} - \frac{\gamma_0}{2} < m < \frac{\gamma_0}{2}$ ورىدا بى جاىزىقى فېزىيە m^2
 $a < 0 \rightarrow m < 0$ $\textcircled{2}$

$$\textcircled{1} \vee \textcircled{2} \rightarrow \neg \in \left(- \frac{1}{2} \right)$$

$$\rho \rightarrow \frac{2 - \sqrt{5}}{2} \quad 2 \quad \frac{\sqrt{5}}{2} \quad 2 \quad \frac{\sigma - 1}{\sigma} \quad 2 \quad \frac{\sigma}{\sigma - 1} \quad 2 \quad \frac{\omega}{\sigma}$$

$$S^z = \frac{\hbar}{2} \left(\frac{N_{\uparrow}}{2} - \frac{N_{\downarrow}}{2} \right) = \frac{\hbar}{2} (N_{\uparrow} - N_{\downarrow})$$

$$S = \frac{d}{dt} - S \rightarrow 2 \left(\frac{1}{\lambda} \right) + r^2 (\delta - 3) + r^2$$

$$P = \frac{c}{a} \rightarrow \frac{w + r}{r} z^2$$

$$\frac{\partial}{\partial z} (a_0 + a_1 z + a_2 z^2 + \dots)$$

$$S(r, b) \rightarrow -\frac{b}{r} \rightarrow r \rightarrow \{a\} \rightarrow b$$

$\begin{matrix} 1 \\ 2 \\ 6 \end{matrix} \rightarrow \begin{matrix} 1 \\ 2 \\ 6 \end{matrix} \rightarrow \begin{matrix} 0 \\ + \\ 6 \end{matrix} \rightarrow \begin{matrix} 1 \\ 6 \end{matrix}$

$$\begin{pmatrix} y_2 & x_2 & z_2 \\ 0 & 4 & 0 \end{pmatrix} \xrightarrow{\substack{y_2 + z_2 \\ x_2 - z_2}} \begin{pmatrix} y_2 & x_2 & z_2 \\ 0 & 4 & 0 \end{pmatrix}$$

